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B,k 7] |07 : 76 mm 08 : 86 mm 13 : 130 mm
Frame=
C,x 7] |06 : 60 mm 08 : 80 mm
301 : 300W 401 : 400W 551 : 550W
5 éﬁs?] e 751 : 750W 102 : 1IKW 152 : 1. 5KW
202 : 2KW 302 : 3KW
A : 1000 rpm B : 2000 rpm
5 2 3 R
C : 3000 rpm H : 1500 rpm
®r TR 1: ¥4p100V |2 : ¥4p200V |3 : = 4p200V
R g B: s N: &8
F:2000p/r (951 40) |H : 2500 pir (9 #140)
okl EfEAT R
A 2000 p/r (155 40) [ B : 2500 pir (15 ) 42 )
BENMER/F N [1:100mm,2:200mm, ....ec | A & HRiEsg
BrRAR 0: & 1: K 2 CERGE
His 24 0: &
i &
fﬁ'}ﬁi‘% éiﬁ"*)’é% 1 (kgf - cm ) =0.0980665 (N - m ) 1(gf -cm - ) =0.980665 (kg - cm?
ARAPN S EfAN P ¥ = | TSB0O7301C | TSB08751C | CO6(F % # )| CO6(H % ¢ )| CO8(F % ¢ )
P ”’iﬁéﬁ af Pr W 300 750 200 400 750
FE e oRe B TSDA15B TSDA20B TSDA15B TSDA20B TSDA30C
R TR VT \% 107.7 1494 81.92 77.53 105.3
I T E TR N-m 0.95 2.391 0.637 1274 2.386
FE TR R n IR A 2.0 34 2.2 4.4 5
S 3 NRrR rpm 3000 3000 3000 3000 3000
B B~ 4 Tp(N)| N:m 2.861 7.164 1911 3.822 7.159
=3 A Ip A 6.0 10.2 6.6 13.2 15
4 ¥ #ic KT N - m/A 0.524 0.776 0.325 0.325 0.533
HAT R Y B Ke V/K rpm 54.9 814 34.6 34.6 55.792
R E v kg.cn? 0.671 2.449 0.27 0.58 112
R L Ra Q 8.37 3.27 10 4 2.6
3+ R La mH 174 10.2 10.8 5.8 5.07
5 P T B Tm ms 1.96 1.032 2.29 1.97 0.935
® F Pk te ms 2.05 3.12 0.92 0.69 1.954
8 kgf 1.82 341 16 2 35
BHE Fa (155C)
1 FEETRR V VDC 24V +10%
B o B 4 N-m 1.176 2.352 1.176 1.176 2.352
E w5 £ kg - cm? 0.098 0.225 0.098 0.098 0.225
*l AT A 0.45 0.44 0.45 0.45 0.44
4 ZE kgf 0.68 1.94 0.68 0.68 194
B pr R FE AR C 0~40
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A 5L A B C| D E F| G| H J K
. TSB7301 |4 5.5 ¢ 100 p90| 76 | 2 5 |14 p70| 20 | 3
K AT B
TSB8751 |[¢ 6.5 ¢ 112{ » 100 86 | 2 5 [d16| p80] 25| 3
TSB7301 |4 5.5 ¢ 100 p90| 76 | 2 5 |14 p70] 20 | 3
D
TSB8751 |[¢ 6.5 ¢ 112{ » 100 86 | 2 5 [d16| p80| 25| 3
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C,s 7]
A 5L A B C| D E F G| H J K L
TSC06201 |p 4.5 60 |¢ 70 5 |¢14(650| 25 | 3 | 27 |154.5
MHECE TSC06401 |p 4.5 60 |70 2 5 |¢14(650| 25| 3 | 27 |176.5
TSC08751 |4 5.5 80 |$90( 25| 6 |$19|(¢ 70| 30 | 3 | 37 [185.5
TSC06201 |p 4.5 60 | 70| 2 5 |¢14(650| 25 | 3 | 27 | 113
7 NHECE TSC06401 |p 4.5 60 |70 2 5 |¢14(p50| 25 | 3 | 27 | 135
TSC08751 |55 80 |$90| 25| 6 |$19|p70| 30 | 3 | 37 | 144 B
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1 (kgf - cm ) =0.0980665 (N - m )

1(gf -cm -g) =0.980665 (kg - cm?)
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AP\ B E AN we | H TSB13551A TSB13102A TSB13102B TSB13152A
3 T Pr W 550 1000 1000 1500
¥ hesRd E TSDA30C TSDA30C TSDA30C TSDAS50C
AT TR VT \Y 162.3 188.7 185.3 194.4
3 T AE TR |N-m 5.252 9.545 4.782 14.327
FE AL N IR A 3.43 5.16 5.16 7.45
RS NR rpm 1000 1000 2000 1000
B b T TP (N ] N-m 15.758 28.645 14.327 42.963
PR B X 3 T n Ip A 10.3 15.5 15.5 22.35
e Kt [N-m/A 1.679 2.039 1.019 2.26
FACE R Bk Ke |V/k rpm 175.9 213.6 106.8 236.6
e I  |kg-cn 6.37 12.25 6.37 18.03
#3 e Ra Q 5.37 2.78 1.82 1.785
B3R La mH 275 18.21 10.05 12.66
4 P B ™ ms 1.21 0.82 1.11
T F P te ms 5.12 6.55 5.52 7.092
g kgf 6.6 10.3 6.6 14
GG % m Fx (155 )
s EERR Y VDC 24V +10%
i o e 4 N-m 8 15 8 15
;¢ g kg- cn? 0.675 0.725 0.675 0.725
%;l T A 0.58 0.59 0.58 0.59
- g kgf 1.2 1.7 1.2 17
iRy REA C 0~40
RAEIEPN\ B EA ne | B TSB13152C TSB13202B TSB13302B TSB13302C
3 T Pr w 1500 2000 3000 3000
Y TSDAS50C TSDAS50C TSDAT75C TSDA75C
AT R VT \Y 200.3 205.4 189.4 199.7
3 T E TR [N-m 4.782 9.545 14.327 9.545
7F AP R IR A 7.06 9.18 14 14
7p NR rpm 3000 2000 2000 3000
BBt b TP(N)JN-m 14.327 28.645 42.963 28.645
B A AT T lp A 21.2 275 42 42
A i Kt |N-m/A 0.74 1.139 1.13 0.75
FArT R & Ke [V/k rpm 775 119.4 118.3 785
g M |kg-cn 6.37 12.25 18.03 12.25
3 e Ra Q 0.98 0.86 0.5 0.37
R La mH 5.37 5.67 354 2.43
4 P i ™™ ms 1.14 0.81 0.71 0.81
TF Tk te ms 5.48 6.59 7.08 6.57
g kgf 6.6 10.3 14 10.3
7 E Fi (155C)
s TR \Y; VDC 24V +10%
T 2 e 4 N-m 8 15 15 15
7 g kg- cnv 0.675 0.725 0.725 0.725
*l AR A 0.58 0.59 0.59 0.59
o ¢ kgf 12 1.2 1.7 17
By FER C 0~40
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Gl L (mm) L (mm)
TSB13551A 211.8 165.3
TSB13102A 261.8 261.8
TSB13152A 316.8 316.8
TSB13102B 211.8 211.8
TSB13202B 261.8 261.8 B
TSB13302B 316.8 316.8
TSB13152C 211.8 211.8
TSB13302C 261.8 261.8
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